Ratio to ATLAS

[EEY

0.5

Rivet 3.1.10, = 3.2M events

8000 GeV pp Z (Drell-Yan)
I L Y I L L I L N N AL B L L O B O
- y' (150 < m < 200 GeV) 7]
— N [ | | _
n - -y . .
B CIEREE FEEEN R ERAE LI S o = 5

g,
m  ATLAS = i
- - Pythia 6.428 390 = i
--A-- Pythia 6.428 391 AN
-4 -- Pythia 6.428 392 i\ i
-+-- Pythia 6.428 396 N
--%-- Pythia 6.428 397 N\
-~ Pythia 6.428 398 . _
:| P P I I R NP PO NN S RO N AN S R , | P I |:
:l T T T T | T T T T | T T T T | T T T T | T T T I:
Y - = === il - R -Eifé@t:. |
B S ISl P TR SUE LD Shehe St B SO
o e

| " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 " 1 1

0 0.5 1 1.5 2
ly |

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


